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1 Spin system microstates and mascrostates

Consider the case where, for an individual particle, spin up and spin down are equally likely.

a) Show that
M =pu(2N: - N)

and use this to describe which of N, N_ is/are sufficient to describe any macrostate.

In the following, assume that the system consists of four particles.

b) List all macrostates and, for each, list all possible microstates.

c) What is the probability with which any single microstate occurs?
d) Determine the probability with which each macrostate occurs.

e) Determine the means of N, and M.
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